
TG591−8A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle; ∆L= L .F Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4) 

A11=176.0
A21=−2.57
A31=1.0
A41=0.33



TG591−8A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle; ∆L= L .F Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4) 

A11=136.1
A21=−1.66
A31=1.0
A41=0.33



TG591−8A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle; ∆L= L .F Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4) 

A11=107.4
A21=−0.93
A31=1.0
A41=0.33



TG591−8A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=176.0
A21=−2.57
A31=1.0
A41=0.33

A12=139.8
A22=−2.36
A32=1.0
A42=0.33



TG591−8A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=136.1
A21=−1.66
A31=1.0
A41=0.33

A12=129.2
A22=−1.61
A32=1.0
A42=0.33



TG591−8A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=107.4
A21=−0.93
A31=1.0
A41=0.33

A12=81.62
A22=−0.68
A32=1.0
A42=0.33



TG591−8A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=176.0
A21=−2.57
A31=1.0
A41=0.33

A12=139.8
A22=−2.36
A32=1.0
A42=0.33



TG591−8A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=136.1
A21=−1.66
A31=1.0
A41=0.33

A12=129.2
A22=−1.61
A32=1.0
A42=0.33



TG591−8A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A,Y
Mittel

F=A1(F3’/F3+F4’/F4)  =L/∆L

A11=107.4
A21=−0.93
A31=1.0
A41=0.33

A12=81.62
A22=−0.68
A32=1.0
A42=0.33


